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1.7]1 A 24 1 7 v 150 300 -150| 259 1 10,0009 #154] 7= 150,000
2. [ZPA A AR RS 200 200 0

LA 2 A AR 200 200 04t A7 5= 1 100,00099+23]= 200,000
2.0 HA g AFA st 3,700 3,280 420
1. w4 =) 1,930 1,930 0
LIEIAEASF 1,930 1,930 0

1. 02 5] H) 1,930 1,930 0| FAFAY 1 250,000 %678 = 1,500,000

SEAYDLE 1 430,000 #135]= 430,000
2.2 5~ 1,770 1,350 420
1.[z2]553A4d 500 500 0

1. 02 454 500 500 0| AR o] 857 ¢ 50,0009 #1078 = 500,000
2. [2]nAAAL 7R 420 850 -430

1. A Q=X H 420 0 420| AL 71 dH] © 30,0009 %145 = 420,000
3. (=] A AT PAH LA 7 2] 5]) 850 0 850
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2. 4N - Fx0] 450 0 450 218) 2 chae] 15,0009 %157 #23]= 450,000
2. FWEA /W AR} F 2 42,304| 40,448 1,856
1.94 #e 16,530 12,480 4,050
L3249 16,530 12,480 4,050
1 [Z]F520 1,262 810 452
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A9 2023 029 149 01A] 25% 35% 1 APBENEH AFzSen




202381

bR 1 Helat wel A
A
" ey | S T RESEC)
A | agl [ AR | AngE apEAuE datel | S
gfx}m_aﬁ%aa’;i?‘gﬂgu] 20,0009 %1 20,000
SR 320 320 0 igfﬂi SRR T 40,0004 320,000
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3.8 5 17,767 18,961 -1,194
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1. [Z]a3}$-9 2,800 2,800 0
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2. 58w 4,000 0 4,000
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2.548% 6,364 5,760 604
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S EAZH A2 10,0009#20H= 200,000
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1. g Rk=8H 600 600 0| MWEAAY : 25,0009 %68F*23]= 300,000
WA G RE 25,0009 %68 F#23]= 300,000
5.[=]15)8H A4 400 500 -100
1. 052G A 400 500 -100| 4 3HA E1] : 100,0009 2= 200,000
SYALE-EH] 1 200,000 #13]= 200,000
6. []1EF4BAED 800 700 100
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2. WA =8 1,500 1,850 -350
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15X 71229 15,660 16,335 -675
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BAREA T 1 25,0009 #8182 #23] = 400,000
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2. A4 H] fA 35,872 31,930 3,942
1. 3F A A g u] ] 35,872 31,930 3,942
1.[2]TF oo LA I+ 17,841 12,320 5,521

1L.A718% 11,604 6,000 5,604 | A7 & 967,000 «127) L= 11,604,000

2.8 FER 960 960 0|4 ER 1 80,0009+127) D= 960,000

3. gEEe T 5,277 5,360 -83| A3} : 90,0009 =127 Y= 1,080,000

$-HAQF : 10,0009)%103]= 100,000

RAZGH o) &R 1 10,1009103]= 101,000
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2718838+ 1,164 1,164 0CCTVA &3] AH85 & 97,0009 +123]= 1,164,000
3. [ dukg 6,360 8,518  -2,158
2.4 ¥ke8 6,360 7,870 -1,510 714 A& 1 62,50099%227)= 1,375,000
ZRF AEFTUS ¢ 78,5009103]= 785,000
2TFESAH]) L 1,050,0009 23] = 2,100,000
AR ET]] 300,000 53] = 1,500,000
YHE 2% 0 600,0009%13]= 600,000
4. (2] e 1,470 1,584 -114
1. k=81 1,470 1,584 -114 | 3P A2 RF 1 31,000946F= 186,000
v o @lgky] © 21,4009 #50] 1270 D= 1,284,000
5. (2192 7z 2,640 2,475 165
1. Yukseg-n) 2,640 2,475 165| F-91 7] A4 Hl &9 8 © 220,000 «127] L= 2,640,000
6.[=]1H2dLY 300 300 0
1.2 9 B 1) 300 300 0/HAY FE=u] 1 150,000 #23]= 300,000
7. (2T LS 300 300 0
1.2 1 5 1) 300 300 0|~z T 4] 150,000 #23]= 300,000
3.3 e #e 1,300 1,400 -100
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1Nk F-5=%1u] 500 600 -100 | G935 1k 100,000 %578 = 500,000
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